=S v A A B, C D7 foll ole A2?

T A A, D 7FAE BC o Hioto] T2 o 91, /BAC =
(BDC oW Y A, B, C, D=3 Hof Art.
® /BDC+80°=100° ../BDC =20°




oS 23} go] ©749 ABCDE 7} ¢
O o skl A =85°, /D =150° & A/_\E

o, /BOC 9] 37]=2

@ 90° @ 100° ® 140°

@)110° ® 120°

ABYDo| RS 10H

(EDB = 95° o|B2 /BDC = 150° — 95° = 55°
(BOC = /BDC 2] FAlZto|Bn g2
- /BOC = 55°x 2 = 110°




o 2HA 909 F @ AB, CD 9 ¥

—~ -y N
5.0ptAC = 25.0ptBD ©]1l, 5.0ptAC <] Zo]

ol % olth. o] of, LAPC ©] 272

@® 35° @ 40° ((@45O @ 50°

® 55°

B

(ADC = 1

x 180 = 30°

— o

(DAB = 2 x 180 = 15°
(APC = /ADC + /DAB = 30° + 15° = 45°




4.

ohS oA /A =40°, /D =50°Y A
o, /x & 2y 9] 27]=2

@ /x=80° sy =40° @éx:85°, Ly =45°
@ sx=85° sy=50° @ 1x=90° sy =40°

® x=90°, 1y =45°

B

(AEF = /BED (¥&A]ZhH= 2y

/DBE = /x |22

AAEF oA /x =40°+ 2y---Q)

ADBE 9|4 50° + £y + zx = 180°---©
b @, ©NA 2y = 45°, /x = 85° o]t}




